District School Board of Pasco County Bid Recommendation

Bid Title	Grounds Maintenance – CHES & CHMS – Maintenance	Number of Vendors Notified	168
Bid Number	09-052-GF	Number of Bids Distributed	15
Date Solicited	August 27, 2008	Number of Vendors Bidding	8
Date Opened	October 8, 2008	Number of "No Bid" Responses	7
Date Board Presentation	November 4, 2008	Funding Source	General
Total Savings	\$13,416.73	Grand Total of Bid	\$27,940.00 Estimate

<u>Recommendation</u>: Recommend acceptance of bid as noted on attached bid tabulation sheet as lowest and best responsive, responsible bid from Extreme Landscaping meeting written specifications.

<u>Term of Contract</u>: This bid is for grounds maintenance at Chasco Elementary and Chasco Middle Schools. Grand total is an estimate only, unit prices will prevail. This is the first year of a three-year bid renewable annually by mutual consent of both parties. The first year contract period is December 1, 2008 through November 30, 2009.

<u>Notations and Exceptions</u>: Savings determined by averaging all non-awarded vendor prices and subtracting from recommended vendor's pricing.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By: Edward Flicker, Custodial Coordinator

Bids Prepared By: Gail Fowler, CPPB, Buyer

Reviewed and Authorized By: Kendra D. Goodman, CPPB, Purchasing Agent

DATE/TIME: October 29, 2008; 09:39:00

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

		Central Florida	Landscaping	Creative Curbing	<u> </u>	Extreme Landscapi	ng	FAM Maintenance	Service
BID TITLE: GROUNDS MAINTENANCE - CHES & CHMS				P.O. Box 3742		11358 Furley Ave		2114 E. Juneau St	
BID #: 09	0-052-GF	Tampa, FL 33610		Holiday, FL 34692		Weeki Wachee, FL 34613		Tampa, FL 33604	
ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	CHASCO ELEMENTARY								
	Mowing, Weeding & String Trimming (38)	310.00	11,780.00	250.00	9,500.00	245.00	9,310.00	350.00	13,300.00
	Edging (38)	NC	NC	50.00	1,900.00	40.00	1,520.00	40.00	1,520.00
	Hedge Trimming (annual basis) (1)	1,536.00	1,536.00	500.00	500.00	250.00	250.00	800.00	800.00
	Pruning (Palms) (2)	68.00	136.00	100.00	200.00	120.00	240.00	200.00	400.00
	Pruning (non-Palms) (1)	NC	NC	100.00	100.00	200.00	200.00	200.00	200.00
	Mulching (2)	504.00	1,008.00	500.00	1,000.00	600.00	1,200.00	1,000.00	2,000.00
	<u> </u>		,		,		,	,	,
	GRAND TOTAL		14,460.00		13,200.00		12,720.00		18,220.00
			,		,		,		,
	ADDITIONAL MULCH: PER CUBIC YARD PRICE:		42.00		50.00		45.00		40.00
	COST FOR 10' x 10' BEDDING AREA:		50.00		30.00		25.00		50.00
	CHASCO MIDDLE								
	Mowing, Weeding & String Trimming (38)	387.50	14,725.00	300.00	11.400.00	245.00	9,310,00	400.00	15,200.00
	Edging (38)	NC	NC	50.00	1,900.00	40.00	1,520.00	40.00	1,520.00
	Hedge Trimming (annual basis) (1)	1,896.00	1,896.00	500.00	500.00	250.00	250.00		800.00
	Pruning (Palms) (2)	263.00	526.00	100.00	200.00	120.00	240.00		400.00
	Pruning (non-Palms) (1)	NC	NC	100.00	100.00	200.00	200.00		200.00
	Mulching (2)	564.50	1,129.00	500.00	1,000.00	600.00	1,200.00		2,000.00
	(-)		-,,		-,000000		-,- * * * * * * * * * * * * * * * * * *	-,,,,,,,,,	_,,,,,,,,
	GRAND TOTAL		18,276.00		15,100.00		12,720.00		20,120.00
			,-,-,-,-		,		,		,
	ADDITIONAL MULCH: PER CUBIC YARD PRICE:		42.00		50.00		45.00		40.00
	I BBITTOT WE MODELL TEXT COBIC TIMES TIMES.		.2.00		20.00				10.00
	COST FOR 10' x 10' BEDDING AREA:		50.00		30.00		25.00		50.00
	COOTTON TO BEBBING THEFT.		50.00		50.00		20,00		20.00
	CHASCO MIDDLE SCHOOL RETENTION PONDS	181.00	4,525.00	50.00	1,250.00	100.00	2,500.00	500.00	12,500.00
	Mow and trim retention ponds to waters edge (25)	101.00	.,525.00	20.00	1,200.00			200.00	12,000.00
	mon and anni recention points to maters edge (20)								
	Grand Total:		37,261.00		29,550.00		27,940.00		50.840.00
			57,201.00		27,550.00		27,5 10.00	4	20,010.00
						-			

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

		Greenways of A	merica	Jazz It Up Designs		Natural Designs	Landscaping	WHIT-TLA	
BID TITLE: GROUNDS MAINTENANCE - CHES & CHMS BID #: 09-052-GF		2435 US Hwy 19 #344 Holiday, FL 34691		P.O. Box 716 Lutz, FL 33548		1810 Clement Rd Lutz, FL 33549		1500 Highwood Pla	ice
								Wesley Chapel, FL 33543	
ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	CHASCO ELEMENTARY								
	Mowing, Weeding & String Trimming (38)	360.00	13,680.00	475.00	18,050.00	170.00	6,460.00	310.00	11,780.00
	Edging (38)	50.00	1,900.00		NC	170.00	6,460.00		3,420.00
	Hedge Trimming (annual basis) (1)	500.00	500.00	1,350.00	1,350.00	1,080.00	1,080.00	600.00	600.00
	Pruning (Palms) (2)	200.00	400.00	NC	NC	800.00	1,600.00	100.00	200.00
	Pruning (non-Palms) (1)	300.00	300.00	NC	NC	NC	NC	100.00	100.00
	Mulching (2)	600.00	1,200.00	600.00	1,200.00	2,700.00	5,400.00	750.00	1,500.00
	GRAND TOTAL		17,980.00		20,600.00		21,000.00		17,600.00
	ADDITIONAL MULCH: PER CUBIC YARD PRICE:		50.00		50.00		45.00		25.00
	COST FOR 10' x 10' BEDDING AREA:		25.00		50.00		75.00		25.00
	CHASCO MIDDLE								
	Mowing, Weeding & String Trimming (38)	360.00	13,680.00	475.00	18,050.00	206.00	7,828.00	310.00	11,780.00
	Edging (38)	50.00	1,900.00	NC	NC	206.00	7,828.00	90.00	3,420.00
	Hedge Trimming (annual basis) (1)	500.00	500.00	1,350.00	1,350.00	1,080.00	1,080.00	600.00	600.00
	Pruning (Palms) (2)	200.00	400.00	NC	NC	800.00	1,600.00	100.00	200.00
	Pruning (non-Palms) (1)	300.00	300.00	NC	NC	NC	NC	100.00	100.00
	Mulching (2)	600.00	1,200.00	600.00	1,200.00	2,700.00	5,400.00	750.00	1,500.00
	GRAND TOTAL		17,980.00		20,600.00		23,736.00		17,600.00
	OKAND TOTAL		17,980.00		20,000.00		23,730.00		17,000.00
	ADDITIONAL MULCH: PER CUBIC YARD PRICE:		50.00		50.00		45.00		25.00
	COST FOR 10' x 10' BEDDING AREA:		25.00		50.00		75.00		25.00
	COST FOR 10 X 10 BEDDING AREA.		23.00		30.00		73.00		23.00
	CHASCO MIDDLE SCHOOL RETENTION PONDS	300.00	7,500.00	100.00	2,500.00	90.00	2,250.00	100.00	2,500.00
	Mow and trim retention ponds to waters edge (25)	300.00	7,500.00	100.00	2,300.00	70.00	2,230.00	100.00	2,300.00
	Grand Total:		43,460.00		43,700.00		46,986.00		37,700.00

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

BID TITI	LE: GROUNDS MAINTENANCE - CHES & CHMS			
BID #: 09-052-GF				
ITEM#	DESCRIPTION			
	CHASCO ELEMENTARY			
	Mowing, Weeding & String Trimming (38)			
	Edging (38)			
	Hedge Trimming (annual basis) (1)			
	Pruning (Palms) (2)			
	Pruning (non-Palms) (1)			
	Mulching (2)			
	(2)			
	GRAND TOTAL			
	GRAND TOTAL			
	ADDITIONAL MULCH: PER CUBIC YARD PRICE:			
	ABBITIONAL MCECII. TER COBIC TARB TRICE.			
	COST FOR 10' x 10' BEDDING AREA:			
	COSTTOR TO A TO BEBBING THEET.			
	CHASCO MIDDLE			
	Mowing, Weeding & String Trimming (38)			
	Edging (38)			
	Hedge Trimming (annual basis) (1)			
	Pruning (Palms) (2)			
	Pruning (non-Palms) (1)			
	Mulching (2)			
	(2)			
	GRAND TOTAL			
	ADDITIONAL MULCH: PER CUBIC YARD PRICE:			
	COST FOR 10' x 10' BEDDING AREA:			
		as a second of the second of t		
	CHASCO MIDDLE SCHOOL RETENTION PONDS	ss		
	Mow and trim retention ponds to waters edge (25)			
	Grand Total:			